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3
Vocabulary Building
Exercise

DHEEES

3. We need to identify

data errors and correct
them.

[find or discover
somebody or something]
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Z. We need to identify

data errors and correct
them.

[find or discover
somebody or something]
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4‘ This event will have a

great impact on the
political situation.

[the powerful effect that
something has on
somebody or something]
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3. This event will have a

great impact on the
political situation.

[the powerful effect that
something has on
somebody or something]

3. ok, st
BNCR XA 52 DT
%9

(2R, BB
NN A2 )

5. The job requires a
technical qualification.
[an exam that you have
passed; a course of study
that you have successfully
completed]
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4. The job requires a
technical qualification.

[an exam that you have
passed; a course of study
that you have successfully
completed]
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6. Credit cards eliminate

the need to carry a lot of
cash.

[remove or get rid of
something]
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5. Credit cards eliminate

the need to carry a lot of
cash.

[remove or get rid of
something]
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7. she’s proficient in

several languages.

[able to do something well
because of training and
practice]
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ﬁ. She’s proficient in

several languages.

[able to do something well
because of training and
practice]
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2.1ts impossible to

predict the weather with
absolute accuracy.

[say that something will
happen in the future]
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Z. It’ s impossible to

predict the weather with
absolute accuracy.

[say that something will
happen in the future]
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